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Jo1 B AXTR/N > BIERER = U)gRER
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AX AN o SOt THE AT
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SOL:
R T = > 100=o

QAT T (x+Ax) = f(x)+ f/(x)Ax
(3)2 x =144 » Ax =001
£ (144-+0.01) = f (144) + (144)(0.01)

f (144.01) =12 +2—14(o.01) =12.000416
PIRE(FAILITHR)
sl DA A=t ¥26.98 2 3T IUUE
SOL:

1
D F)=x » f'(x)=
O F)=xx > (%) e

Q)53 A f(x+Ax) = T (X)+ f/(X)AX
(3)2 x=27 » Ax=—0.02
f(27-0.02) = £ (27)+ /(27)(—0.02)

f(26.98) = 3—%%(0.02) =3-0.00074 =2.99926
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Q)5 A f(x+Ax) = T (X)+ f/(X)AX

(3) = Ak P I R BRI A BES T3 = 80 +1° =~ + ——

6 180




LSx=2 Ax=—
Y776 180
fz+iif1+f’z[l]
(6 180) (6) (6) 180
) 1 \/§ T
f (31 ismZ cosI i]:— —.—=05+0.0151
(31) 6jL 6[180 2+2 180 +

PART 3 : §§5r EAE A8
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BIREETE dy B1Ay)

Fy=x*+2x > Ex=3> Ax=0.185k Ay Eidy

SOL:

(1) Ay=f(x+Ax)— f(X) =[(x+AxX)* +2(x+ Ax)|—[x* + 2]
=|(3+0.1)* +2(3+0.1)|-[3* + 6| =[(3.1)* +2(3.1)| - [15] = 0.81
(2) dy=(2x+2)dx =8Ax=0.8
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SOL: x=+3 = x*=3 = f(xX)=x*-3> = f/(x)=2x
WS x, =17 = x1:1.7—2'25 3_17—%_173235
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1)%x =1.73235 = x, =1.73235— —1.73235—
(W= 2 3.4647
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DA x =2 Bitdh(E » (HERAEER X -2x-5=0 2 » SR ZCECETE
SOL 4 f(x)=x>-2x-5 > f'(x)=3x"-2
_,  f(x)
X=X
n+1 n f (X )

gix =2 x=2- @ 5 D5,
t':EEE\/ZEX]_—Z Xz f(2) 2 10 —21

f(21) _,, 0.061
fl2.0) 7 11.23
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¢ f R—1E x=a 2 n TAIEREY o RIOMFAE—n REIAZGE | (@
f(x)="f(a)+ ()(x a)+ ()(x a)y’ +--+ (:()(x a)"+R (X)
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